Problem 11a-5 — Determine the internal moments at the supports. Assume E/ is constant.
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Example 11a-5

Determine the reactions at the supports. Assume A is fixed and B and C are rollers that can either push or pull on the beam. El is constant.

Joint AB D
Members AB BA BC CB CD DC
DF 1 0.500 0.500 0.500 0.500 1
FEM 56.250 -66.667 | 66.667  -56.250
Dist. 5.208 5.208 -5.208 -5.208
Cco -2.604 2.604
Dist. 1.302 1.302 -1.302 -1.302
co -0.651 0.651
Dist. 0.326 0.326 -0.326 -0.326
Cco -0.163 0.163
Dist. 0.081 0.081 -0.081 -0.081
Sum 0.00 63.167 -63.167 63.167 -63.167 0.00
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ken  3EI/L 0.2000 kec  4EI/L 0.2000
DFgs  0.5000 DFgc 0.5000
ke  4EI/L 0.2000 ko  3EI/L 0.2000
DF;s  0.5000 DFsp 0.5000

FEMgy 56.25 kN m
FEMBC 66.67 kN m



